STRAINER BODY CARTRIDGE - INTERCHANGABLE

SPARE PART
~.
< - — <
f 13
114
A Description Code Cartridge Code
M16x1,5 | Grease strainer FLD 160 um 953 1992 | Cartridge 160 micron| 8 53 1987
M16x1,5 | Grease strainer FLD 300 ym 9 53 1995 |[Cartridge 300 micron| 8 53 1994
G3/8 Grease strainer FLD 160 pm 9 53 6814 | Cartridge 160 micron| 8 53 1987
G3/8 Grease strainer FLD 300 pm 9 53 6815 | Cartridge 300 micron| 8 53 1994
STRAINER BODY CARTRIDGE - INTERCHANGABLE
SPARE PART
~
o 222 1 3|13
13 1 11 11
)
m//
=<0
M
©
pany
WV
36
114
A Description Code Cartridge Code
M16x1,5 | Grease strainer FLD 160 um 9 53 2278 | Cartridge 160 micron| 8 53 1987
M16x1,5 | Grease strainer FLD 300 um 9 53 6813 |Cartridge 300 micron| 8 53 1994
G3/8 Grease strainer FLD 160 uym 953 6816 | Cartridge 160 micron| 8 53 1987
G3/8 Grease strainer FLD 300 um 9536817 | Cartridge 300 micron| 8 53 1994
Description GREASE STRAINER @m s.r.o.
Type FLD Kosuli€ova 4 Brno
www.tribotec.cz
Code +420 543 425 611

|



